TGT Sanskrit

Q 1). In June 2025, at which of the following places Shri Amit Shah has inaugurated the
National Turmeric Board headquarters?

(A) Nizamabad, Telangana

(B) Meerut, Uttar Pradesh

(C) Indore, Madhya Pradesh

(D) Raipur, Chhattisgarh

Correct Answer: (A)

Q 2). The World Health Organization (WHO) has recently praised India for

(A) Launching the first AI-Powered vaccine distribution network.

(B) Creating a global database of all herbal medicines used in India.

(C) Using Artificial Intelligence (Al) to modernize traditional medicine.

(D) Implementing nationwide Al automated hospital administration.

Correct Answer: (C)

Q 3). The World Games 2025 took place in which country in August 2025?

(A) India

(B) China

(C) Brazil

(D) USA

Correct Answer: (B)

Q 4). PPT with pictures and description is which type of teaching aid?

(A) Audio

(B) Visual

(C) Audio-Visual

(D)Non-Projected

Correct Answer: (B)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior

(B) Praising a child for completing homework

(C) Removing TV privileges for poor grades

(D) Ignoring a child's tantrum

Correct Answer: (B)

Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)
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Q 7). b TSR A1T?
(A)TTYY

B) YT YUY

(ORI

D)dAIH

Correct Answer: (D)

Q 8). ‘FHETagar HeTHRAR B udfor faera?
(A) FHTTETOT

(B) STNTUGTOT

(C) 3MfeTafor

(D) Hsqudfor

Correct Answer: (D)

Q 9). “-1 IIdH" T JHRT: Ydfd ?
(A) 3R

(B) Tf2rH

(C) 3gfIaH

(D) 3F3feraq

Correct Answer: (C)

Q 10). FHUSATAS! TUI BT -2
(A) 3, 3T |

B)T U

(C) 3ff, 3t |

D) T, 37|

Correct Answer: (B)

Q 11). " eqwy I Thaay fovye
(A) Ifa:

(B) X4

(C) %ad

(D) XfaAT

Correct Answer: (C)

Q 12). URsY: SURIHTIY P yafd|
(A) Hd PIcT:

(B) HidT&ThT:

(C) HPT:

(D) IHIRT:

Correct Answer: (D)
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Q 13). BdGR HUSH hH bid HUSH: FYUAW?
(A) R0

(B) ¢

(OR

D) R

Correct Answer: (A)

Q 14). “F=a=g Hifd Fgom: Ffe a1 ¥gag” 3@ &: 8 ?
(A) TI-afdaPT

(B) gt

(D) 3TEH

Correct Answer: (A)

Q 15). "M, M R T [ITTea S | o Wghd 3aTe: 31 -

(A) T, T, 38 o fare i |

(B) I, T4TH:, 31 d fowrmerd it |

(C) T, =4TH;, 378 J faemerd ey |

(D) I, =TT, 38 I faemerand s |

Correct Answer: (C)

Q 16). Xetd YfSTAT THTATH ITRTOT ford -
fafe g TR T frffarden |
a{%%‘q:%naﬁd’l?:uwmﬁm:n

TYIR: DI R

(A) &

(8) fopfarq

(C) fafem:

(D) Fredepry

Correct Answer: (C)

Q 17). "= A1 $¥* AW 150 foegrdds a1 forgd |

(A) BY AT Bo

ORICEEETE

O TIPT

(D) AT [

Correct Answer: (C)
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Q 18). "31g TR SId [UaTH | ST aied ST b =4 Hafd ?
(A) UTAUITE STcd fOaTa |

(B) UTAUITE STci G |

(C) T U= ot Ui |

(D) {1 U S7ed giad |

Correct Answer: (C)

Q 19). feifRIaH I I=Ned forad

T TR Pl e ST |

(A) Ted

(B) T®H

(RIS

(D) TRY:

Correct Answer: (B)

Q 20). srefiferRaay srgwde ufSwar gy SwRIfor fora -

HIHR TR § HRaW RRREY 39 | 3 Uy A9 M<d faxd enepvafd |
TRNST YRYaHT: T 59 Head | TR 31 TR TR | SRR 9 Sidatein
IS | TR faawar Tem 9 add | 3 RHH eRfF -y afr | 2reiER-
IRARME]-FRITAENT-gRA-AHYA HEAA-MeR-Yafaai g@ik ST SIRARY
R TqAIh Pl | HIRURT A Saad [9gd, I gdgfasr: qurt: et (HOUSE
BOATS) Tedh g 3T Twa= | ‘SAUDGH SHIT: f[A=mam fauuH-dii- fag= | 3
Y U9 OR AR’ 96 $HE TUeHe Ray | 690 T4 18® - SUHH RichH 785

- a5 | NS FERId 3R 350 He' IR Jararid<xy 31U a=-ay
| SRATY=RT ufast ufrg e sift sifer g veR add | ada: 3fd UeRr: Sifasfer:
Ui g T |
fob e SifRr vt uRisw 2
(NEIEER
(B) g RTEHRH
(C) STHRAIY
(D) R foMR

Correct Answer: (C)
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